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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2018

Subject Name : Microprocessor and Assembly Language Programming
Subject Code :2TE04AMPL1 Branch: Diploma (CE)
Semester : 4 Date :05/05/2018 Time : 10:30 To 01:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)
a) MVIAO05is byte of instruction.
(A1 (B.3
(C.2 (D. 4
b) JMPis
(A. Conditional instruction (B. Unconditional instruction
(C. Interrupt instruction (D. Both A && C.
c) Address bus size of 8086 bus is.....
(A. 8 bit (B. 16 byte
(C. 32 byte (D. 20 bit
d) Which one is non-maskable interrupt
(A. INTR (B.RST 7.5
(C. TRAP (D.RST 5.5
e) What is size of instruction queue in 80867
(A. 4 Byte (B. 6 Byte
(C. 3 Byte (D. 7 Byte
f)  What is/are function of BIU?
(A. Fetch data (B. Memory read
(C. Memory write (D. All above
g) The first microprocessor built by the Intel Corporation was called .
(A. 8080 (B. 8008 (C. 4004 (D. 8085
h)  The register in the 8085A that is used to keep track of the memory address of the
next op-code to be run in the program is the:
(A. SP (B.PC
(C.BP (D. All above.
i) LDA 2000 instruction is how many byte of instruction?
(A. 2 (B.1 (C.3 (D. 4
j)  Which one is non-vector interrupts?
(A. INTR (B.RST7.5 (C.TRAP (D.RST 5.5
k) Which one is fastest memory?
(A. RAM (B. Cache
(C. ROM (D. EPROM
I) Size of data bus in 8085 is
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(A. 6 bit (B. 6 byte (C. 8 byte (D. 8 bit
m) Which pin is used to Demultiplexing ADO-AD7 bus system?
(A. ALE (B. DML (C.1/0 (D. AMD
n) Which one is example of Direct addressing mode?
(A. MVI A05 (B. LDA 3005

(C. MOV AB (D. CMA

Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)
€)] Explain different microprocessor operation.
(b) Draw and explain architecture of 8086 MP.

Q-3 Attempt all questions (14)
(a) Draw pin diagram of 8085 MP. Explain Interrupt related pins.
(b) Explain different addressing mode of 8085 processor.

Q-4 Attempt all questions
(@) Explain following instruction: 1. STA 2. LX1 3. RAR 4.MVI 5. ANA (5)
(b) Draw and Explain bus system of 8085 MP. (5)
(©) Define Instruction cycle, machine cycle, microprocessor and T-state. 4)
Q-5 Attempt all questions (14)

(@) Explain Memory segmentation in 8086 MP.
(b) Draw and explain pin diagram of 8086 MP.

Q-6 Attempt all questions
(@) Draw architecture of 8085 MP. (5)
(b) Explain De-multiplexing process of AD7- ADO. (5)
(©) Differentiate between Maskable and non-Maskable interrupt. 4)
Q-7 Attempt all questions
(@) Explain different Register set of 8086 MP. (6)
(b) Explain different instruction as per word size of 8085 MP. (6)
() Differentiate between 16 bit and 8 bit processor. (2
Q-8 Attempt all questions (14)

@ Draw and explain timing signal diagram for MOV A, B.
(b) What is addressing mode? Explain various addressing mode supported by 8086
MP.
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Attempt the following questions: (14)

MVI A, 5 W ollee oz elel 8.

(A. 2 (B.1

(C.3 (D. 4

IMP AL B,

(A. 5(32olAH Bog&lol (B. Uotsel[SAAAA B 8lot
(C. 822 Bra&ot (D.ola A&&C.
8086 HIESIUIRAUR ofl WIU o1 WS .

(A. 8 (A2 (B. 16 L2

(C. 32 sllese (D.20 (@2

s ollol-HsUA S22 B?

(A. INTR (B.RST 7.5

(C. TRAP (D.RST55
8086 HISSIUIRAMR ML Bor2elol 53 ol A% 9 B?

(A. 4 ol82 (B.6 slle
(C.30U8e (D. 7 oll&se
wHL Yl s BIU ol $8lot 8?2

(A. 3 32l (B. A3l read
(C. 3L AL (D. GURell oLl
USE HIBSIURARMR ¥ Soec sTURAs dd slotlallyf o ollH ___ B,
(A. 8080 (B. 8008

(C. 4004 (D. 8085

(B2 &ot 8085A 3 Boll GMARNIL ULl otl JUTUIAA-5S 3 B YIUH HL et Uclo(l B Aol
QAR A3 ofl 1Bl ioLe 52 & A

(A. SP (B.PC

(C.BP (D. All above.
LDA 2000 8o28lel A 32l ollse ofl Borgelol B ?

(A.2 (B.1

(C.3 (D. 4

52| ollot- AseR B2 B?

(A. INTR (B.RST 7.5
(C. TRAP (D.RST55
565 arsUl (s2e) ARl B2

(A. RAM (B. Cache
(C. ROM (D. EPROM
UG WS S2l WY Bet 8085 .

(A. 62 (B. 6 ollese
(C. 8 wlles2 (D.8[0le
585 (Aot oll GADL IR UAGL ADO-AD7 Gl RizeH 12 U B?
(A. ALE (B. DML

(C. 1/0 (D. AMD

56 Borgélol W SleRse WIRDLAS of BELEW B?
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(A. MVI A05 (B. LDA 3005
(C. MOV AB (D. CMA

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

Q-6

Q-7

Q-8

@)
(b)

@)
(b)

(@)
(b)
(©

(@)
(b)

(@)
(b)
(©

(@)
(b)
(©

@)
(b)

Attempt all questions (14)
W EL-%EL HIBSIUIRARUR ol BURAet AHHLAl.

E1RL W UHHMA 8086 HIBSIURAUR WUU(SL5UR.

Attempt all questions (14)
E1RL et SI8AAH 8085 HIBHWRAUR Al 212 RALS Mo UM

UM yEL-2EL AUZRIOL LS, 8085 WRAUR ol

Attempt all questions

WUAA Bogelot UMM AL 1. STA 2. LXI 3. RAR 4.MVI 5. ANA ®)
12 A UHAA : oA Qe H S 8085 HIBSHWRAR ®)
RBgtesel Sorpelel UBsA, Hllol ABSAH, HIBHURAUR AU dl-22. (4)
Attempt all questions (14)

AH A AR A21HB Lot Bot 8086 HIBFIWRAUR
E1RL W UHAMA : Mot SLSAYH ALS 8086 HIBSIUIRAUR

Attempt all questions

121 (5252 A% 8085 HISSIWIAUR ®)
Aol S-HE@UAGADL YAY 2§ AD7- ADO. (®)
HIRSOLEA Vs, ollol-HRS A 8312 ofl detotl s (4)

Attempt all questions

UMl EL-EL (R[22 Ae 1% 8086 HIBHWAUR (6)
UL YEL-YEL Sorg&lol as UR aA§ WSy Bllg 8085 HISHUAUR (6)
16 (A2 ot 8 (e NAUR oll detotl 5. )
Attempt all questions (14)

EIRL A AU 2L8(ol Roeld stsAIH 512 MOV A, B.
IR M 9 B? AUAA Yel-%el UFRIDL s AWES Glle 8086 HISSIURAMR
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